BHHZ& 2300

freeman2300
FAFP 3 vio

User ManualV1.0
2019.05

mc

makeflyeasy



=itk

&7 Introduction

BH#E 2300 E—XEXEEEREEE VTFE, B85+
R, BMEREF, REMBEER. BHEE 2300 B A—FKBMHENEEAAN
MRMEHEEER, LEZSMNARANMRRESR, EEIHN=419
T EHRREUERIN FRNE,

BEHGITIER S YHAET (R, ATHURIE. aTirE
B, TTHURERE. F WWIEEGXIAREEMIIRFIRFAARRE, HZRY
KERXIFENNNEAEERFEEE (i, EFES 5 NRERE
BIZRE A5100 1841 (£9900g) , BEC 6S@22000mah FER SR, A
PASEHL 60KM ROEEFIS R ERMREHIERER.

BLAEERH M ELEERFEE 1:500 . 1:1000 0 1:2000 Az,
=HERIRT R RTINS, RMBEIR. BAOKE. MR, KFIES
M.

Freeman 2300 is a fixed-wing design aircraft which is tilting type and
vertical take-off and landing. It is characterized by many advantages such as
portability, simplicity, stability and durability. Freeman2300 is an oblique
photograph aircraft, which market positioning is high cost perform and
entry-level. And aim to help more clients to getting start with oblique
photograph, exploring the application value of data in three-dimensional
space.

Thanks for the Modular design of whole aircraft; it’s very convenient to
conduct the assembly during outside aerial photogrammetric field operation.
Quick release wings, empennage and foldable arms provide excellent using
experience for our customers. Separate flight control module could support
the common vertical take-off and landing flying control. We recommend
mount Spcs light-weight version Sony A5100 camera (about 900g), and
concomitant with 6S@16000mah aluminum polymer battery, which could
bring 60km long endurance and high quality shooting effect.

Using proper control point cooperatively, the final mapping would
satisfy 1:500, 1:1000 and 1:2000 aerial survey standard, the final model



could realized a wide-ranging application such as geography surveys,
farmland, forestry land and grassland protection, power line inspection,
environment protection, water conservancy and etc.

P anilig
MER: EPO. EVA, B&F4E. TRENSE
EE: 2300mm NES: 180mm
MEK: 1070mm EE: 62dm?
HEE VITIERE: 16m/s KIRIEE : 10m/s
BABEWER: 900g AR :120%150x120mm
BRAMAZE: 60km(900g thEK)  BAUEKER: skg
SCAFHR: 4000m mXEES: S
wpEAl: EEERE A TIERE

1IEEIFEY . 1.21m*0.38mx0.44m

Products specifications:

Material: EPO, EVA, carbon fiber, engineering plastics and etc.

Wing Span: 2300mm Fuselage height: 180mm

Fuselage length: 1070mm Wing area: 62dm?

Suggested flight speed: 16m/s Stalling speed: 10m/s

Suggested payload: 900g Payload bay size: 120x150x120mm
Longest flight range: 60km (contain 900g load) Max take-off weight: 8kg
Practical ceiling height: 4000m Wind resistance: 5

Take-off and landing approach: vertical Dismounting way: tool-free

Transport case seize: 1.21mx0.38mx0.44m



eSS

LD T e o=

ﬁﬁl =
. EIREAREMEESN, —ERIRIREEFEEENN, LIRS
BB, Retil.
1. Pay attention to the welding wires sequence which should be

corresponding to each other during the welding of large current connector.
Or maybe the electric regulator and servo suffered burning-out.

2. BIRMERIEF(EFERMR ES3054 2 ell, siEEMERR IR

NEEENA, ETRN%RE, TEERFEENZE.

2. We recommend the EMAX ES3054 digital servo, or other same size servo
and round board helm angle for the easy installing of servo and tail wings
quick release devices.

3. BREEXT 7.5ke 5K, TEAFECIBEENER.

3. Stiffening the wings and empennages when the take-off weight was more
than 7.5kg.

4. TELEEENEERERREEKE,

4. Please adjust the front and rear motor frame to the level during
installation.

5. BERERREESRBESE TE,

5. Please refer to below the Freeman power supply conceptual drawing when
you were confused by the Installing sequence.




BHE{HBISZEE Freeman power supply conceptual drawing

Haith 6s@22000mah
Battery 65@22000mah

\ 4

BB *2

Titling motor*2

v

ISEBN*2

Rear motor*2

A 4

—p| fEEREN 2

Titling servo*2

BUEEREH 2

A 4
A 4

Aileron servo*2

|| R

A 4

A 4

Bec5V10A Empennage servo*2
Bec5V3A > Lt
Data transfer power supply
hed
Bec5V3A TEiEfHE

Control flight power supply




X17iEE Flying Attentions
. BERE 12n/s ITHIRE TS, LR KRR,

1. Don’t cornering when the aircraft flying speed was less than 12m/s, or the
aircraft maybe stalling.

2. KTRNESWEER. BIERTIRIEWIGE, BEESERIRE
TELERE AR AT,

2. Ensure the motor and propeller were installed correctly and toughly before

flying, inspecting the electronic regulating signal wires and power lines plug,
ensure they were connected toughly.

3. KITHBIEEALREEE, WSS, ABE. LE. B, Sk&%
%0

3. Away from the unsafe factors such as barrier, crowd, children, buildings,
high-voltage wires and etc while flying.

4. FUERER CEE T T, T2ENIZEEKERE 7.
4. Takeoff under the safety weight and never flying in the area of airfield
clearance zone.

SIBRINREOMUERE (MTHNEBRERHS T RELTEREL AR
&) 15mm).

5. Conduct the counterweight at the marked center of gravity position. (At
the protrusion which was under the plastic parts of wings root and moved

towards wings tail 15mm.)



ERYIEEE Contents in the box
EPO ZBf EPO Parts

1 EGHLE 1 left & right wing 2EBRE 2 left & right empennage

3EBHE 2 left & right fuselage 5 H#EE 5 Cabin cover

s

6 S2f8Z 6 Parachute cabin cover 7 BE&% 7 Ventral fin




REERME Carbon tube parts

| BSTHERE 2 ffrEieiEsR

1 Fuselage supporting carbon tube 2 Foldable landing gear
14*12*206mm
12*10*206mm

BRI

1 EBALEE*4 2 BBER

1 Motor frame

2.Motor cover plate

3 BRI
3 Mental latching hook*8

4. TREFER
4 Load mounting




B Plastic parts

1 HLEERA2

1 Wings connecting parts*2

2 BEERM2

2 Empennages connecting parts*2

3 REHLEIEM*2

3 Servo fixing parts*2

= servor covering plate

4 feFa*4

5 FEIBEIER*1
5 Battery fixing board*1

6 REEEMR*2

6 Antenna fixing board*2

N

T




7 MEEIENR* 1

7 Cabin cover fixing board*1

8 WRZ24E*12
8 Stud*12

-~

9 FEEWIET*4
9 Cabin cover locking nail*4

e

10 R#2*2
10 Chuck*2

_

AtREPE Wooden parts

1 B NHRER*2

1 Fuselage reinforcing plate*2

O 0

\

2 HENHEENR

2 Tail reinforcing plate

//
W//

10



3 TKIERER* 1
3 Autopilot locating board*1

4 DRBREHEE* 1

4 Basement of parachute servo*1

/

5 PREFEAMNR*1
5 Wooden plate of parachute hatch
cover*1

6 ACENNEIR* 1

6 Stiffer of parachute hatch cover *1

EVA SR (FREREHE, CiEXEHRE)

EVA parts (Cushion at battery area, cushion at flight control area)

| BB X4

1 Cushion at battery area

2 KERE R

2 Cushion at flight control area

H

11



BBES Y Other fittings

FS BIRRES = giE
NO. Name &Model Qty Notes

| KEIEERR 2E
Large electronic current connector 2 groups
EEREHFERS 30cm 2 1R
Empennage servo extending wire 30cm 2 sets
MNBHES =iRESLIER S 35cm 218 MBEB
Fuselage signal extending wire with 2 sets fuselage section
three-terminal 35cm

2| MSEHERESIERS 35em 218 MBEB
Fuselage and servo signal extending 2 sets fuselage section
wire 35cm
REFNZ (60 7EY) 2K MEEB
Servo wire (60 core) 2m wing section
14AWG TR (FR) 23K

3 14AWG Silicone wire (black) 2m
14AWG FERREE (£1) 2K
14AWG Silicone wire (red) 2m
PUEEER 2.5mm*15mm 30 B8
Diameter of heat shrink tubing 30

4 2.5mm*15mm sections
HEEERR 6mm*15mm 12 %
Diameter of heat shrink tubing 12
6mm*15mm sections
RELE Wire harness tube 1K 1m

5 BEARFLTE Magic tie straps 2 1R S ithEEiRETEER

2 sets Matching the battery
fixing board
p 1EBB/ERR Transparent foam glue 2%
2 PCS

12




B3k Ball head 8 BkSLIEMF Ball link rod
8PCS
&M Link rod 4R BRSLZERF Ball link rod
7 4 sets
[EISLIRET M2X10 8 E1 BRSLIZEFT Ball link rod
Button head screw M2X10 8PCS
BB M2 8 B BR3LGZEFT Ball link rod
Block nut M2 8 PCS
o BRI 34 REZE8ET Hatch cover
Plastic latch 3PCS locking nail
WTRREISLIRZZ M2.5X8 1080 | KEEFERERS. A
9 Tail button head screw M2.5X8 10PCS Large electronic current
connector, parachute servo
TR EISLIRZZ M2X10 8 #1 REUER. CIEMER
10 Tail button head screw M2X10 8PCS Servo presser, autopilot
locating board
3480 | NEfeH. BERH. &
34PCS R, AR
11 HRFEIEISAREL M2XS Wing helm angle,

Tail button head screw M2X8

empennage helm angle,
mental latching hook,
servo covering plate

13




WWRETIRHNEHE (BF)

Auxiliary installation tools and materials (Self-contained)

TH Tools Fi& Usage
3.0mm +=Fi8227] AR
3.0 Philips screwdriver Installing the screws
W7 FRiRLT] RHEFEHLRE

Allen driver

Installing the motor frame

FEIRER. IRHRLL

Electric iron, solder wire

IRIRAEIR, AL

Welding the power line and servo

line
FTKAHL Lighter EEHRYEE Fixed heat shrink tube
/NT] Knife F& Wire stripping tool

AR, IERERR. AFLERSTE (Transparent) adhesive

tape, fabric adhesive tape

WA SHEENELL. TYHUSERINE

Aircraft bonding and auxiliary
positioning, local reinforce

MiNECE S THHE Test configuration & performance

LS Bs Hye
Types Model Qty
fuEEERA, BA=F Sunny sky 3520kv500 24N
Tilting motor 2PCS
JEEBN BAZF Sunny sky 4112kv450 20N
Rear motor 2PCS
FEiE YFBRARR 60A 44
Electronic speed HobbyWing60A 4PCS
controller
BIE/EEAE $RF ES3054 44

14



Aileron/Empennage EMAX ES3054 4PCS
Servo
RS, Ds3225 24
Tilting servo IPCS
Iz APCI1510 IE/3E 1X$
Front motor rotor APC1510 positive and negative rotor 1 pair
[EFEHNE 1755 BREFHEIEIR K 1 g
Rear motor rotor | 1755 carbon fiber rotor of positive and negative 1pair
REA BEC SV@10A 1A
Servo BEC 1PCS
%% BEC SV@sA 14
Data transmission
BEC
iz Pixhawk2.4.6 1=
Flight control 1group
1 IEBth 68@22000mah fEEREY) 148
Power battery 6S@22000mah lithium polymer lgroup
REEE 5 NRERR SONY A5100 (900g) 18
Payload weight Spcs lighting version of SONY A5100 (900g) Iset

15




:J:El #ﬁ:ﬁﬁ% T ﬁZf:E 37'7 Scan the gr code to learn more

Qq & FAEE

QQ group Taobao store

Mk (URL) : www.makeflyeasy.com
it (SITE) : FEEMRZHEX AR AKERKERFE

SWUST,FuchengDistrict, MianyangCity,Sichuan,CHINA Province, China
National University Science Park



	简介Introduction
	产品规格
	Products specifications:
	安装注意
	飞行注意Flying Attentions
	EPO部件 EPO Parts
	碳管部件 Carbon tube parts
	金属及碳片部件
	塑料件 Plastic parts 
	木板部件 Wooden parts
	EVA部件（电池区缓冲垫、飞控区缓冲垫）
	其他配件Other fittings
	Aileron/Empennageservo

